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Enitries: 947568

Mean: 816508 +/- 00072

Sid Dev: T.0404 &~ 00051
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Run 5302 mpswise, acc0: Beam ON, Laser ON
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Enirie=: 118375
Mean: 15.9027 «'- 000031
Sbd Dew: 10597 0 0.0022
Entries: 118368

Mean: 16.9169 «/- L0031

Std Daeryz 1.06217 - 00022
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Enitries: 160470

Meari: 001893 +/- 0.0004

Sid Dy 01562 - 00003
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Run 5302 mpswise, acc0: Beam ON, Laser OFF

— Helicity==0
— Helicity==

Enitries: 142160

Mean: 26583 +- L0014

Sid Drev: 05286 - 0.0010
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Run 5302 mpswise, Acc0 vs Time: All
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Run 5302 mpswise, AccO vs Time: Beam ON, Laser ON
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Run 5302 mpswise, Accl vs Time: Beam OFF
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Run 5302 mpswise, AccO vs Time: Beam ON, Laser OFF
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